I will know how to derive ‘ten times greater’ facis L=

Answer questions in column A and use them to answer ten
times bigger questions in part B

A B
2x 7= 30x9-=
4X3= 20x 7 =
8x5= 4 x30=
3x9= 80x5=
4 X 4 = 4 X 40 =

\

Check these answers
What mistakes have been made?

& 6 x 30 =108
& 30x7=210
& 90 X 4 = 3600
& 120 x 2 = 240
& 3 x 90 = 270
¢ 40 x 40 =160




~

I can complete 10 times table calculations.
O0x10=__
1x10-=
2 x 10 =
3 x10-=
4 x 10 =
5 x 10 =
6 x 10 =
7 x 10 =
8 x 10 =
9 x 10 =
10 x 10=__



